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Run 5647 mpswise, BCM: All Run 5647 mpswise, BCM: Beam OFF
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Run 5647 mpswise, lasPow: All Run 5647 mpswise, lasPow: Beam OFF
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Run 5647 mpswise, bpmAx: All
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Run 5647, mpswise, bpmAx: Beam ON, Laser ON
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Run 5647, mpswise, bpmAy: Beam ON, Laser ON

Enitries: 3175686
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Run 5647 mpswise, bpmBx: All Run 5647 mpswise, bpmBx: Beam OFF

[

#10
EGD __ Entries: 531960 20000 :_ Entries: 22184
— Mean: 03269 4/ 00008 [— Mean: 1. 4480 «/- 0.0114
— 18000 —
B Sid Dev- 04160 +- 0.0004 — Sid Dev- 1.6932 +- 0.0080
400 — 16000 —
- 14000 —
300 [ 12000 :—
B 10000 —
200 [ BOOD :—
B 6000 —
100 4000 F—
~ 2000 —
EI _l I | 1 | | I | | | | | | | | | I | | | | I | | | | |-| | | D :l | | | | | | | | | 1 | 1 | | 1 | | | | | | 1 | | 1 L | |
—250 -200 -150 -100 -B0 0 —250 —200 -150 -100 50 0
bpmBx bpmBx
Run 5647, mpswise, bpmBx: Beam ON, Laser ON Run 5647, mpswise, bpmBx: Beam ON, Laser OFF
- Entries: 317086 22000 = Entries: 181105
B Mean: 02770 +/- 0.0000 20000 — Mean: 02773 +/- 00000
SO000 — —
- Std Dev: 0.0085 +- 0.0000 18000 — Std Dev: 00100 +- 0.0000
" 16000 —
40000 — —
[ i 14000 —
20000 12000 —
" 10000 —
20000 — 8000 —
- BOO0 —
10000 — 4000 -
— L 2000 —
'D_"l""l"" L 111 R T N N A N N N N N B D:|||| PN T T N T T L= T T T T N T N TN T T O N O O O
0.15 p.2 0.25 0.3 0.35 0.4 .22 0.24 0.26 0.28 0.3 0.32 0.34 0.36 0.38 0.4



Run 5647 mpswise, bpmBy: All Run 5647 mpswise, bpmBy: Beam OFF
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Run 5647 mpswise, beam ON, laser OFF
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Run 5647 mpswise, beam ON, laser ON Run 5647 mpswise, beam ON, laser OFF
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Run 5647 mpswise, beam ON, laser ON

:—||| AT T N T T N T T T T T A T I A 0 A O A
100 200 300 400 500 600 700 800 900
mpsCoda
Run 5647 mpswise, beam OFF, laser ON
:—||| A TN N N N N T A N T T I T T N T 0 I A O B O A
100 200 300 400 800 600 700 800 Q00

mpsCoda

«10°

*10

Cav Power

Cav Power

2500

2000

1500

1000

500

2500

2000

1500

1000

500

Run 5647 mpswise, beam ON, laser OFF
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Run 5647 mpswise, beam ON, laser ON Run 5647 mpswise, beam ON, laser OFF
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